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& 3t 47,783 44,428 24,859 23,816 744 299
i A = DES 5,494 7,086 4,154 3,932 150 72
F #] = DES 1,143 3,569 2,443 2,365 37 41
FH < F OF OB 1,023 901 654 640 14 —
NI LRI =S 342 128 4 1 3 —
7 5] = beS 1,990 2,322 1,254 1,207 24 23
* 4 = DES 6,917 7,278 4,586 4,418 110 58
R T G =S 1,187 656 401 374 15 12
35 i = DES 2,219 1,975 1,134 1,099 24 11
Z S DES 942 409 16 2 14 —
2 H % - F B 1,454 1,770 657 628 29 —
£ & = DES 2,692 1,858 868 821 27 20
i =1 = DES 2,835 3,208 1,867 1,780 59 28
o8 % - ¥ g 720 608 21 9 12 —
Mot moT gk 443 201 8 2 6 —
k- LA DES 2,193 543 101 91 10 —
B R - T B 1,878 3,335 2,610 2,578 32 —
B o A 3 OF R 1,149 515 352 340 12 —
B I8 = DES 2,793 1,682 1,158 1,119 26 13
* I8 = DES 3,402 1,509 456 393 58
S S DES 1,564 1,075 549 527 15 7
Bose b omoEopk 377 164 14 2 12 —
Iy W DES 3,303 2,353 985 939 40 6
A K F R 263 815 389 380 6 3
A B G- 1,148 257 76 68 8 -
CHE T D S 64 14 1 - 1 -
N S R 102 98 25 25 _ _
& i = DES 146 99 76 76 — —
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42,306 23,356 16,663 6,693 49,905
6,640 3,574 2,952 622 5,940
3,407 1,273 1,127 146 1,305
813 557 365 192 1,111
202 179 21 158 268
2,414 827 599 228 1,898
7,107 3,881 2,790 1,001 7,088
640 472 216 256 1,203
1,746 1,076 794 282 2,448
400 256 134 122 951
1,206 708 467 241 2,018
1,699 1,135 857 278 2,851
2,730 1,604 1,314 290 3,313
484 359 206 153 844
243 202 23 179 401
528 379 156 223 2,208
3,455 1,750 1,574 176 1,758
554 399 190 209 1,110
1,659 1,201 874 327 2,816
1,571 1,052 526 526 3,340
923 615 448 167 1,716
218 161 13 148 323
2,384 990 569 421 3,272
748 355 310 45 330
353 237 73 164 1,052
12 9 6 66
75 39 31 125
95 66 54 12 150




